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Q. 7 3x+2y=12 T xy = 6, ar 9x2+4yfc
T HIET FAT 87

Q. If 3x+2y=12 and xy = 6, then what
is the value of 9x2+4y2?
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Q.Zl'l%(x+%)=5,3ﬁ (x2+xiz)
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Q. If (x + %) = 5, then what is the value of (xz + x—12)?

T |/ FAT 82
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" b+c c+a a+b
value of x?  / (a) at+b+c
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Q. iz 3x-3x1) =18, a1 XX =T ATT FN

gIT?
Q. If 3x-3x-1) =18, then what is the

value of x¥? (a) 27
< \> c) 30
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Q. Zl'i%(7’c+14) (2). < (Z +=) T HIA oreuéb
@W( =+ 14) (7),then what is the value of (72 + i)?
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(@) 5
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(c) 7
(d) 17
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Q. 2 (2x + ) = 6,7 (3x + ) T AT FAT FIT
Q. (Zx + %) = 6, then what is the value of(3x + %)?
(@) 4
(b) 8
(c) 9
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Q. TfT (x-2), (X2 -7x +2a) FT [UEETE g, 94 'a’
T |/ gITT-
Q. If (x-2) is a factor of (x2 -7x +2a), thep-the
value of 'a' will b (@) 9
\ (b) -5
(c) 6
(d) 4




UPSS

fRerst UP PET 2023 5
S€E

Q. 3= 5_+4\</__ A7a +

V3b T,

[ ol ';+\/_ . [

Q1 \/_—4-761"\/31?

then (a) a=v3,
b=47

(b) a=27,
b=1

(c) a=1,
b=27

(d) a=47,
b=+3
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Q. 3(6-2x) FT 77 =C
FAT &7
Q. Square of
3(6-2x) is? (a) 12x?-
pulg)® 72x+108
(b) 4x2-
24x+36
(c) 108-72x-
12x2
(d) 36x2-

216x+324
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Q. 7% (9-3x) - (17x-10) = 1, AT X &7
qT 2
Q. If (9-3x) - (17x-10) = 1, then the
value of x is: ‘ @)
C\f- > (b) (-1)
Nt (c)
(9/10)
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Q.7 (a+1) =13 (b+<) =1, (c+-) e aCET F?

Q. If (a +%)b= 1 and (b +%) = 1, then (c +§) IS equal to?
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Q. Tte 2apg=(p+q)?-(p-q)2, TT a =T >

qTT FAT 87

Q. If 2apg=(p+q)*-(p-q)-, then the
value of ais? /- -
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Q. X T HTH T g, Forad s4s7h 8x+12 3f¥
14x-6 FTE g1 ATT?

Q. What is the value of x for which the
expressions 8x+12 and 14x-6 become equal?




Q. 7 (x? +5) = 23 MRx > ol (x +2) T HTA ‘@‘«’rr%6

Q. If (xz + iz) = 23 and x > o then what is the value of (x + l)?
X X
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Q. 7 (x2-3x+1) =0, ar x2+x+(1/X) +(1/x2) F1 oK
HT BT
Q. TF (x%-3x+71) =0, then the value of
x%+x+(1/x) +(1/x2) will be: (a) 7
$ = (c) 9
(d) 10
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(0.1)3+(0.2)3+(0.3)3-(0.2)(0.3)? I P
Q. (0.1)2+4+(0.2)2+(0.3)2-0.02—0.06—0.03 PLHIA %
Q What is the value of
(0.1)34+(0.2)34+(0.3)3-(0.2)(0.3)? .
(0.1)24(0.2)2+(0.3)2—-0.02—0.06—0.03 °
€),
0.1x0.2x0.3
(b)
0.1+0.2+0.3
(c) 0.1+0.2-
0.3
(d) 0.1-

0.2+0.3
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Q. FfT X2=y+2Z, yo=x+2Z 3T 22=X+Y,

1 1 1
—+—+— ?
7\/\\ Q. If X2=y+z, y?=x+z and z?=x+y ,

then what is the value of (—- +

(@) 0
(b)

X+y+z

(c) 1

(d) xyz






